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All Sections are compulsory 

Section - A 

Q1) a) Read the following passage and answer the questions that follow. (5) 

Soapy was unsuccessful at getting himself arrested. As a homeless, jobless drifter, 

he wondered how he would survive the harsh winter. He knew he would get food 

and shelter in jail, if only he could manage to get caught while committing a petty 

crime. 

Suddenly he noticed a well-dressed man lighting a cigar at a cigar store. His silk 

umbrella had been set by the door on entering. Soapy stepped inside the store, 

took the umbrella and sauntered off with it slowly. The man asked for his               

umbrella but Soapy asked him to call a cop-who was standing at the corner. 

i) What had Soapy been unsuccessful at? 

ii) Why did Soapy want to get arrested? 

iii) What was the well-dressed man doing? 

iv) Where did the man put the umbrella? 

v) Soapy drew the attention of the umbrella owner to a police man because 

…… 

1) he wanted to run away. 

2) he wanted to keep the umbrella. 

3) he wanted to get arrested. 

b) Read the passage and answer the questions. (5) 

   Knowledge has always been the prime mover of prosperity and power. The            

acquisition of knowledge has therefore been the thrust area throughout the world. 

Additionally in India, there has been a culture of sharing it, not only through the  



   

  

   

  

   tradition of guru- shishya but also by its spread to neighbouring countries through 

travellers who came to Nalanda and other universities drawn by their reputation as 

centres of learning. India is endowed with many advantages and competencies but 

these are scattered in isolated pockets and the awareness of these is inadequate.  

i) From which lesson is this passage taken? 

ii) Who is the author of this? 

iii) What is the main mover of prosperity? 

iv) How is knowledge shared in India? 

v) What is the problem with India’s advantages and competencies? 

 

Q2) Answer any Two of the following in not more than 100 words each. (2 x 4 = 8) 

a) Why did Gandhi feel that he had to simplify his life? 

b) How does ‘Man’s Peril’ bring out Russell’s thinking about nuclear weapons? 

c) What are the good qualities of writing according to L.A. Hill? 

d) Bring out the central theme of ‘The Drunkard’. 

 

Q3)  Answer any One of the following in about 200 words. (7) 

a) How according to Kalam can a knowledge society be built? 

b) Comment on Orwel’s ‘Shooting an elephant’. 

c) What are the main ideas expressed in ‘Pecuniary Independence’. 

Section - B 

Q4) a) Answer any ONE in not more than 100 words.     (4) 

i) Bring out the theme of love in ‘The Last Ride Together’. 

ii) Discuss Shelley’s ideas as expressed in ‘Ode to the West Wind’. 

iii) Justify the title ‘Mending Wall’. 

 b) Explain any ONE of the following:      (4) 

i) He is all pine and I am apple orchard. 

ii) This is my son, mine own Telemachns. 

iii) We slowly drove – He knew no haste. 

 



   

  

   

  
 

Q5) Answer any One of the following in about 200 words. (6) 

a) Discuss the theme of relationship in ‘Mending Wall’. 

b) Bring out Keats’ love for nature. 

c) Justify the title ‘The Last Ride Together’. 

Section – C 

 

Q6) Answer any One of the following in about 200 words. (6) 

a) Discuss ‘The Lottery Ticket’ as a study of human psychology? 

b) Consider ‘Subha’ as a dramatization of the basic need for love and friendship. 

c) Comment on the central theme of ‘Ha’penny’. 

 

Section - D 

Q7) Read the following passage and summarize it. (5) 

Freedom has given us a new status and new opportunities. But it also implies that we 

should discard selfishness, laziness and narrowness of outlook. Our freedom suggests 

toil and creation of new values. We should so discipline ourselves as to be able to         

discharge our new responsibilities. We should put into action our full capacity. Work 

unceasing work should be our watch-word. Work is wealth and service is happiness. 

The greatest crime in India today is idleness. Each one should work honestly, this is the 

fundamental law of progress. Next to honest work is the habit of respecting other 

people’s feelings. The law of love is a practical code of life. 

 

Q8) Write an essay on one of the following: (5) 

a) My ambition. 

b) Women empowerment. 

c) Education. 

 

Q9) Answer any one of the following: (5) 

a) Write a report on ‘The Republic Day’ programme in your college. 



   

  

   

b) Write a report on a musical concert held in your city. 

 

  
Q10) Use four of these idioms and phrases in sentences of your own. (5) 

a) look up to 

b) bed of roses 

c) crocodile tears 

d) hand in glove 

e) hand to mouth 

f) at arm’s length 

g) close-fisted 

h) in a nutshell 

 

Q11) Answer any ONE of the following: (5) 

a) Write a dialogue between two friends on the problem of unemployment. 

b) Write a letter to your friend congratulating him for topping his college. 

c) Write a letter to the commissioner about the problem of bad roads. 
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Q1) {Mìü…¨ Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³† ç³§éÆæÿ® ™é™èþµÆ>ÅË$ {ÐéÄæý$…yìþ. (8) 

a) GËÏ ÔèýÈÆæÿ «§éÆæÿ$ËMæü$ °ËÏ̄ èþ$ `Mæüsìý ¯èþ*† ÌZç³Ë… 

{§ðþâæýåMæü ÒÆæÿ$ ¯óþ Ðèþ$¯èþ$ Ðèþ$†{¿æýÐèþ$×ý…º$¯èþ À¯èþ$²OÌñý {ç³Ðèþ 

Ç¢ËÏMæü çÜÆæÿÓÐèþ$$¯èþ²™èþ° ¨ÐèþÅ MæüâêÐèþ$Äæý$ Ðèþ$… è̂þ$ ÑçÙ$~̄ èþ… 

§æþ$ËÏÐèþ$$(gôýÇa ™é ÆæÿyæþÑ¯èþ$…yæþ$r Ðóþ$Ë$ °Ô>^èþÆ>{Væü×îý? 

 

b) A™èþ$Ë Ðèþ$à¯èþ$ ¿êÐèþÐèþ$° Äæý$ÑÓÇ(§é ¯öMæü ò³§æþªõÜíÜ Äæý$ 

^èþ$Å™èþ¯èþMæü$ °^èþaMæü… »Ÿ§æþÐèþ çÜ*yìþ§æþ Æÿ$$_ā èþ °^ðþa(V>Mæü ™é 

¯èþ™èþ(yæþ$ {í³Äæý$…º$ VæüË$Ȳ ðþyæþ MæüÆæÿµ×ý õÜíÜ¯èþ( gôýòÜ(V>Mæü, Äæý* 

Ðèþ$™èþMæüÇ ÐóþË$ç³#… §æþç³íÜ Ðèþ$Ðèþ$$Ã( §æþË…ç³(Væü ¯óþË Äæý$^èþar¯Œþ? 

 

Q2) Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯èþ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄæý$…yìþ.  (4 x 2 = 8) 

A-¿êVæü… 

a) ^èþ§æþ$Ðèþ#ËÌZ Ðèþ$ÆæÿÃÐðþ$ËÏ f¨Ñ† ™èþ…{yîþ. 
b) MæüËMæü…uæÿ Ðèþ«§æþ* MæüËM>MæüÎ «§æþÓ°¯Œþ. 
c) ¿êÆæÿ™èþ çÜ…íßý™èþ °Ë$a ^éyæþ$µ̄ èþ¯Œþ. 
d) AÀÐèþ*¯èþÐèþ$$( Væü*ÇÃÄæý$$¯ðþ…§æþ$( »ZÄñý$¯ø! 

 



   

  

   

B--- ---¿êVæü… 

a) fVæü™èþ$¢Mæü…™é è̂þÐèþ#ÍÝë¢̄ øÄŒý$! 
b) ¯é Äñý$yæþ§æþ {Ððþ*Oyðþ¯èþ §æþ$íÜ¦†. 
c) GÐèþÆæÿÄæý*Å {ç³V>Éæþ Ýëíßý™èþÅÐèþ$*Ç¢. 
d) §óþÔèýÐðþ$$Mæü§ðþçÜ ±Ðèþ# JMæü §ðþçÜ. 

 

Q3) {Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯èþ$…_ JMæü§é°Mìü çÜÐèþ*«§é¯èþ… {ÐéÄæý$…yìþ. (2 x 7 = 14) 

A-¿êVæü… 

a) {ç³àÏ§æþ$yæþ$ ™èþ…{yìþ G§æþ$r çßýÇ¿æýMìü¢° {ç³Mæüsìý…_¯èþ Ñ«§æþÐèþ$$ ÑÐèþÇ…^èþ$¯èþ¨. 
b) Møç³ Væü–çßýÐèþ$$¯èþ çÜ™èþÅ¿êÐèþ$ íÜ¦†° ÑÐèþÇ… è̂þ…yìþ. 

B-¿êVæü… 

a) ËMæü$Ðèþ$ÌZ ÝëW¯èþ A…™èþÆæÿÃ£æþ¯é°² ÑÐèþÇ… è̂þ…yìþ. 
b) }} MæüÑ™é {ç³†fq̄ èþ$ ÑÐèþÇ… è̂þ…yìþ. 

 

Q4) {Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü çÜÐèþ*«§é¯èþ… {ÐéÄæý$…yìþ. (2 x 6 = 12) 

A-¿êVæü… 

a) Ðèþ*™èþ–¿êÚëÀÐèþ*¯èþ… ò³ÆæÿVæüyé°Mìü ´ë¯èþ$Væü…sìý ÐéÆæÿ$ ^óþíÜ¯èþ çÜ*^èþ¯èþË$ ÑÐèþÇ…^èþ…yìþ. 
b) Æ>Äæý$Ë M>Ë… ¯ésìý Væü–çßý, Ýë²̄ èþ, A¯èþ²́ ë¯èþ, ¿ZV>§æþ$Ë¯èþ$ Væü$Ç…_ {ÐéÄæý$…yìþ. 

B-¿êVæü… 

a) ºçßý$M>Ë §æþÆæÿÃ¯èþ…ÌZ° }Æ>Ðèþ$$Ë$ çÜÓ¿êÐèþ… _{¡MæüÇ…^èþ…yìþ. 
b) Ðèþ$¯èþ$ ^èþÇ{™èþÌZ° Mæü£æþ¯èþ$ Væü*Ça {ÐéÄæý$…yìþ. 

 

Q5) {Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐèþ*«§é¯éË$ {ÐéÄæý$…yìþ.  (2 x 6 = 12) 

a)  MæüÐèþ$Ë. 
b) ç³#Ææÿ$Úù™èþ¢Ðèþ$Æ>Ðèþ#. 
c) Í…VæüÆ>k. 
d) çÜ$¿æý{§æþ. 

 

 



   

  

   

Q6) {Mìü…¨ Ðé°ÌZ JMæü§é°° Væü*Ça ÐéÅçÜ… {ÐéÄæý$…yìþ.  (6) 

a)  AÑ±† °Ææÿ*ÃË¯èþÌZ ò³§æþª̄ ørÏ ´ë{™èþ. 
b) Ō ðþ†Mæü ÑË$ÐèþË »Z«§æþ¯èþÌZ ¿êçÙË ´ë{™èþ. 
c) °Ææÿ$§øÅW™èþ. 

 

Q7) a) i) {Mìü…¨ ç³§æþÅ ´ë§é°Mìü Væü×ý Ñ¿æýf¯èþ ^óþíÜ, bèþ…§æþçÜ$Þ̄ èþ$ Væü$Ç¢…_ Äæý$†° õ³ÆöP¯èþ…yìþ.  (5) 

 AkqÌŒý Vö…§æþ‚ý$ Ðóþ$Ðèþ$$§é Ðèþ$¯èþ$^èþ$ Ðèþ*Äæý$…gñý…¨ çÜÆ>Ó™èþÃMæü$… 

(Ìôý§é) 

  ii) {Mìü…¨ Ðé°ÌZ JMæü§é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×êÍ² ™ðþËµ…yìþ. 

1)  Mæü…§æþ…. 
2) ™óþrX†. 

 b) i) {Mìü…¨ ç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ Ë„æü×ý… ™ðþÍµ çÜÐèþ$¯èþÓÆÿ$$… è̂þ…yìþ.  (5) 

 A¯èþ Ñ° {Ðóþr$ Ðèþyæþz Äæý$$ÆæÿV>…Væü¯èþÄæý$$…ºÌñý 

(Ìôý§é) 

  ii) {Mìü…¨ AË…M>Æ>ËÌZ JMæü §é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ý… ™ðþËµ…yìþ. 

1)  Ææÿ*ç³Mæü…. 
2) çÜÓ¿êÐøMìü¢. 

 

��� 
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Q1) Answer any two questions: [2 × 10 = 20] 
  Û¶mo: CÎma§ {bIV & 

a) Write the brief story of Nagananda. 
      ZmJmZÝX àW‘m‘H$Wm§ {bIV & 

b) Explain the dramatic skill of Bhasa with illustrations 
      ^mgñ¶ ê$n¸$bmnmQ>d§ gà‘mU§ {Zê$n¶V & 

c) Sketch the character of Baladeva. 
      ~bXodñ¶ nmÌ{MÌU§ Hw$ê$V & 

d) Write the story of “Sri Krishnasya Mytri 
      “lrH¥$îUñ¶ ‘¡Ìr’’ B{V nmR>ç^mJ gmam§e§ {bIV & 
    
Q2) a)   How did viswamitra become Brahmarshi? [1 × 10 = 10] 

         {dœm{‘Ì: H$W§ ~«÷{fª: ~ ŷd? 
AWdm 

  b)   Write an essay introducing “Acharya Sri Ramachandradi” 
AmMm¶© lr am‘MÝÐH$do: n[aM¶mË‘H§$ {Z~ÝY‘oH§$ {bIV & 
      

 
Q3) Explain any two of the following with refer to context. [2 × 3 = 6] 

  MËdm[a ggÝX ª̂ Am»¶mV & 
a) {ZXm}f Xe©Zm {h H$Ý¶H$m ^dpÝV & 
b) gd©ñ¶mä¶mJVmo Jwê$: & 
c) ñd§ Xoh‘Ym}naV§ dhm{‘ & 
d) ³d gy¶©: H$ M IÚmoV: & 
e) Zañ¶ ^m½¶aoIm An[adV©Zr¶m & 
f) {dZm{^foH§$ amOm Ëd§ {dàmoº}$d©MZ¡‘©‘ & 

g) bô oo {Ìe‘J©JZo à{VîR>m‘² & 
h) qH$ H$V©ì¶Vm‘yT>m: Vo J«m‘rUm: & 



   

  

   

     [P.T.O.] 
Q4) Write short notes on any two of the following  [2 × 4 = 8] 
  Û¶mo: bKwQ>rH$m§ {bIV & 

a) ^ma{d: & 
b) nÄMVÝÌ‘² 

c) e‘amMm¶©: 
d) O¶Xod: 

  
Q5) Define and illustrate any two alankaras  [2 × 3 = 6] 
  Û¶mo: Ab‘ma¶mo: bjUmoXmhaUo {bIV & 

a) ÑîQ>mÝV: 
b) C„oI: 
c) XrnH$‘² 
d) Cn‘m 

 
Q6) Write the forms of any four of the following sabdas. [4 × 2 = 8] 

  MVwUmª {Z{X©îQ>{d^{º$fw ê$nm{U {bIV & 
a) ‘ê$V² (fîR>r) 
b) {dÛg²  ({ÛVr¶m) 
c) VX² - ór (V¥Vr¶m) 
d) Jw{UZ² - (gá‘r) 
e) amOZ² - (nÄM‘r) 
f) Añ‘X² - (àW‘m) 
g) dmH²$ - ({ÛVr¶m) 
h) ^JdV² - (àW‘m) 

 
Q7) Write the forms of any four of the following adding the given termination’s [4 × 1 = 4] 

  MVwUmª VÎmËàË¶¶mZ² ¶moO{WËdm {bIV & 
a) ñ‘¥ (³VdV²) 
b) Xm  (emZM²) 
c) Zr (³VdV²) 
d) km (eV¥) 
e) dM² (emZM²) 
f) nR²> (Vw‘wZ²) 
g) {O (ë¶n²) 
h) J‘² (Vw‘wZ²) 



   

  

   

   
Q8) Translate any four sentences in to Telugu or English.  [4 × 2 = 8] 

  MVwUmª AmÝY«̂ mfm¶m§ {bIV & 

a) XÿaV: nd©Vm: aå¶m: & 

b) ¶Wm amOm VWm àOm & 

c) YZ‘yb{‘X§ OJV² 

d) gË¶‘od O¶Vo & 
e) g‘wÐo ~hÿ{Z aËZm{Z gpÝV & 
f) erboZ emô Vo {dÚm & 
g) Y‘m} aj{V a{jV:& 
h) H$Xbr’$b§ ‘Ywa§ ApñV & 
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SECTION - A 
 

Q1) {ZåZ{b{IV nÚm§e H$mo gàg§J ì¶m»¶m H$s{OE &  (18) 
a) i) EH$ ^amogm EH$ ~b, EH$ Amg {dñdmg & 

   ñdm{V g{bb aKwZmW Og, MmVH$ VwbgrXmg && 
AWdm 

ii) ‘‘a{h‘Z Xo{I ~S>oZ H$mo, bKw Z Xr{O¶o S>m[a& 
Ohm± H$m‘ Amd¡ gwB©, H$hm H$ao Vadm[a &&’’ 

b) i) H¡$Ho$¶r A~ lram‘ go H$hVr h¡ {H$ gmam  
g§gma ¶hr OmZVm h¡ {H$ nwÌ ^bo hr ~wao 
hmo gH$Vo h¡, na ‘mVm Hw«$‘mVm Zht hmo gH$Vr && 

AWdm 
   ii) ~m§¶o go do ‘bVo hþE noQ> MbVo h¢, 
       Am¡a Xm{hZm Xçm-ÑpîQ> nmZo H$s Amoa ~T>m¶o & 
    ŷI go gyI Am|R> O~ OmVo, 
    XmVm-^m½¶ {dYmVm go ³¶m nmVo & 
 

c) i) OJ h‘|, bJo OJmZo {díd bmoH$ ‘| ’¡$bm {’$a AmbmoH$& 
ì¶mo‘-V‘-nw§O hþAm V~ ZîQ,> A{Ib g§g¥{V hmo CR>r AemoH$ && 

AWdm 
  ii) ¶wJ-àdV©H$, ¶wJ-g§ñWmnH$, 

¶wJ-g§MmbH$, ho ¶wJmYma & 
¶wJ-{Z‘m©Vm, ¶wJ-‘¥{V© Vwåh|, 
¶wJ-¶wJ VH$ ¶wJ H$m Z‘ñH$ma & 
 
 

 



   

  

   

Q2) {H$gr EH$ H${dVm H$m gmam§e {b{IE &  (10) 
a) {^jwH$ & 
b) ^rî‘ H$m ea-eæ¶m go CnXoe & 
c) H¡$Ho$¶r H$m níMmVmn & 

 
 
 
Q3) {H$gr EH$ H${d H$m n[aM¶ Xr{OE &  (10) 

i) VwbgrXmg & 
j) am‘Ymar qgh {XZH$a & 
k) O¶e§H$a àgmX & 

 
 
Q4) {H$gr EH$ {df¶ na {Z~§Y {b{IE &  (10) 

e) nwñVH$mb¶ & 
f) XoemVZ & 
g) n¶m©daU-àXÿfU & 
h) XhoO-àWm & 
i) XÿaXe©Z & 

  
Q5) {H$gr EH$ gm{hË¶ {df¶ na {Z~§Y {b{IE &  (10) 

a) Am{XH$mb n[apñW{V¶m| na àH$me S>m{bE & 
b) H¥$îU ^{º$ Am¡a gyaXmg Or H$m n[aM¶ Xr{OE & 
c) am‘^{º$ Ymam Am¡a VwbgrXmg H$m n[aM¶ Xr{OE & 
d) ZmQ>H$ H$m {dH$mg Am¡a O¶e§H$a àgmX H$m n[aM¶ Xr{OE & 

 
Q6) {ZåZ{b{IV JÚ H$m {hÝXr ‘| AZwdmX H$s{OE & (12) 

On the bank of river Penna, there was a village called Perur. In Perur, there lived a 
poor Brahmin. His wife was on Orthodox. They did not have any children. They lived 
in a small hut. There was a lime tree behind the hut. It bore many fruits. The couple 
sold and lived on the income. The tree was to them dear as a son. 
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   SECTION – A (2 x 13 = 26)  

Answer any two questions  

 

Q1) Explain briefly about the Babylonians. 

 »ê¼ÌZ°Äæý$¯Œþ ÐéçÜ$Ë Væü$Ça ÑÐèþÇ…^èþ…yìþ. 

 

Q2) Explain briefly about invention of wheel and its role in industrialization. 

 ^èþ{MæüÐèþ$$ Äñý$$MæüP BÑçÙPÆæÿ×ýÐ@þ¬ Ðèþ$ÇÄæý$$ ´ëÇ{Ô>Ò$MæüÆæÿ×ý…ÌZ §é° Äñý$$MæüP ´ë{™èþ¯èþ$ ÑÐèþÇ… è̂þ…yìþ. 

 

Q3) Describe briefly about effect of modern agriculture on environment. 

 B«§æþ$°Mæü ÐèþÅÐèþÝëÄæý$… ÐèþË¯èþ ç³Æ>ÅÐèþÆæÿ×ý…òOò³ {ç³¿êÐèþÐèþ$$¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

 

Q4) What do you understand by “Bio-War”? Explain with suitable examples. 

 “iÐèþ&Äæý$$§æþ®Ðèþ$$” A¯èþV>¯óþÑ$? ^èþMæüPsìý E§éçßýÆæÿ×ýË™ø ÑÐèþÇ… è̂þ…yìþ. 

 

   SECTION – B  (3 x 4 = 12) 

Answer any three questions 

 

Q5) a) Paleolithic age. 

  õ³ÍÄñý*Í«̈ MŠü Äæý$$VæüÐèþ$$. 

 b) X-rays. 

  GMŠüÞÆóÿË$. 

 c) DDT. 

  yìþyìþsìý. 

  



   

  

   

 d) Radio. 

  ÆóÿyìþÄñý*. 

 e) Biogas. 

  iÐèþÐéÄæý$$Ðèþ#. 

 f) Gunpowder. 

  Væü¯Œþ´ûyæþÆŠÿ. 

                               SECTION – C (3 x 4 = 12) 

Answer all questions 

  

Q6) a) Who invented Calender? 

MóüË…yæþÆŠÿ° GÐèþÆæÿ$ Mæü¯èþ$Vö¯é²Ææÿ$? 

 b) ICBM means ________ 

  IíÜ¼GÐŒþ$ A…sôý ________ 

 c) Who invented steam engine ________ 

  BÑÇ Äæý$…{™é°² GÐèþÆæÿ$ Mæü¯èþ$Vö¯é²Ææÿ$ ________ 

 d) What is the another name for Vitamin ‘C’? 

  ÑrÑ$¯Œþ ‘ íÜ’ Mìü Ðèþ$ÇÄñý$$Mæü õ³Ææÿ$ HÑ$? 

 

Q7) Choose the correct word. 
 çÜÇOÄñý$¯èþ ç³§æþÐèþ$$¯èþ$ Væü$Ç¢… è̂þ…yìþ. 

a) Radio invented by 
i) Grahembell  
ii) Marconi 
iii) Flemming 
iv) Darwin 

  ÆóÿyìþÄñý* Mæü¯èþ$MöP¯èþ²̈  GÐèþÆæÿ$ 

i) {Væüçßý…»ñýÌŒý 
ii) Ðèþ*ÆöP° 

iii) òœÏÑ$…VŠü 
iv) yéÇÓ¯Œþ 

 
b) Which of the following is pesticide 

i) Methane 



   

  

   

ii) Phosphorous 
iii) Detergent 
iv) DDT 

  {Mìü…¨ Ðé°ÌZ H¨ {MìüÑ$çÜ…çßýÇ×ìý. 

i) Ò$£óþ¯Œþ 
ii) ¸ëçÜµÆæÿ‹Ü 

iii) yìþsñýÆæÿj…sŒý 
iv) yìþyìþsìý 

c) Typhoid is caused by 
i) Female mosquito 
ii) Plasmodium species 
iii) Bacteria 
iv) Salmonella Typhi 

  Osñý¸ëÆÿ$$yŠþ §óþ°ÐèþË¯èþ Ðèþ^èþ$ā èþ$ 

i) Byæþ§øÐèþ$ 
ii) ¸ëÏÝùÃyìþÄæý$… iÐèþ#Ë$ 
iii) »êÅMîütÇÄæý* 

iv) ÝëÌŸÃ¯ðþÌêÏ Osñýïœ 

 

Q8) Match the following: 

a) Vitamin B  Egg 
b) Methaemoglobinaemia Vit-C 
c) Scurvey  Berry Berry 
d) Silver Revolution Nitrates 

 
a) ÑrÑ$¯Œþ ¼  {Væü$yæþ$Ï 
b) Ñ$«§æþÐðþ*VøÏ¼¯óþÑ$Äæý$ ÑrÑ$¯Œþ-C 
c) çÜPÈÓ   »ñý{È»ñý {È 
d)  íÜËÓÆŠÿ Ñç³ÏÐèþÐèþ$$ Ō ðþ{sñýsŒýÞ 

      

 

��� 
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(Examination at the end of Second Year) 

ENVIRONMENTAL STUDIES 

Time : 3 Hours  Maximum Marks : 100 

    

       SECTION - A (4 × 10 = 40) 

Answer any four of the following 

Each question carries 10 marks 
 

Q1) Define Environment and give an account on the structure of atmosphere. 

 ç³Æ>ÅÐèþÆæÿ×ê°² °ÆæÿÓ_…_, Ðé™éÐ@þÆæÿ×ý… Äñý$$MæüP °Æ>Ã×ýÐèþ$$¯èþ$ ™ðþËç³…yìþ. 

 

Q2) What are the uses of forest resources and give an account on the consequences of de-
forestation. 

 ArÒ Ðèþ¯èþÆæÿ$Ë Äñý$$MæüP Eç³Äñý*VæüÐèþ$$Ë¯èþ$ Ðèþ$ÇÄæý$$ Ðèþ¯èþ Ñ¯éÔèý¯èþÐèþ$$ ÐèþË¯èþ MæüË$Væü$ ç³Ç×êÐèþ*Ë¯èþ$ 
™ðþËç³…yìþ. 

 

Q3) Explain in detail about the available water resources and their management practices. 

 A…§æþ$»êr$ÌZ Ðèþ#¯èþ² ÑÑ«§æþ fË Ðèþ¯èþÆæÿ$Ë$ Ðèþ$ÇÄæý$$ Ðésìý °ÆæÿÓçßý×ý¯èþ$ Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

 

Q4) Write the values of the biodiversity. 

 iÐèþOÐðþÑ§æþÅ ÑË$ÐèþË¯èþ$ Væü*Ça {ÐéÄæý$…yìþ. 

 

Q5) Explain the role of bio-geo chemical cycles in maintaining the equilibrium of ecosys-
tem. 

BÐèþÆæÿ×ý ÐèþÅÐèþçÜ¦ çÜÐèþ$™éíÜ¦†ÌZ Ðèþ#…yæþ$rMæü$, iÐèþ&¿æý*&ÆæÿÝëÄæý$¯èþ ÐèþËÄæý*Ë Äñý$$MæüP ´ë{™èþ¯èþ$ 
ÑÐèþÇ…^èþ…yìþ. 

 

Q6) Enumerate sources, effects and control measures of air pollution. 

 ÐéÄæý$$ M>Ë$çÙÅ, M>ÆæÿM>Ë$, {ç³¿êÐéË$ Ðèþ$ÇÄæý$$ °Äæý$…{™èþ×ý ç³§æþ®™èþ$Ë¯èþ$ Væü*Ça ™ðþËç³…yìþ. 



   

  

   

 

Q7) How can we manage solid waste? 

 çœ$¯@þÐèþÅÆæÿ® ç³§éÆ>®Ë¯èþ$ GÌê °ÆæÿÓíßý… è̂þVæüËÐ@þ¬? 

 

Q8) Explain the following: 

a) Urbanization. 
b) Global climate change. 

 {Mìü…¨ Ðésìý° ÑÐèþÇ… è̂þ…yìþ: 

a) ç³rt×îýMæüÆæÿ×ýÐèþ$$. 
b) {ç³ç³… è̂þ Ðé™éÐèþÆæÿ×ý Ðèþ*Ææÿ$µ. 

  

    SECTION - B  (3 × 20 = 60) 

Answer any three of the following 
 

Q9) Write about the aims, objectives and scope of the environmental studies. 

 ç³Æ>ÅÐèþÆæÿ×ý A«§æþÅÄæý$¯èþ… Äñý$$MæüP Ë„> ÅË$, BÔèýÄæý*Ë$ Ðèþ$ÇÄæý$$ AÐèþM>Ô>Ë¯èþ$ ™ðþËç³…yìþ. 

 

Q10) Describe uses of mineral resources and impact of mining on the environment. 

Q°f Ðèþ¯èþÆæÿ$Ë Äñý$$MæüP A¯èþ$ÐèþÆæÿ¢̄ éË¯èþ$ Ðèþ$ÇÄæý$$ Væü¯èþ$Ë {™èþÐèþÓMæü… ÐèþË¯èþ ç³Æ>ÅÐèþÆæÿ×ý…òOò³ VæüË 
{ç³¿êÐèþÐèþ$$¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

 

Q11) Explain in detail about conservation of bio-diversity with suitable examples. 

 iÐèþOÐðþÑ§æþÅ çÜ…Ææÿ„æü×ê Ñ«§é¯éË¯èþ$ çÜOÆðÿ¯èþ E§éçßýÆæÿ×ýË™ø ÑÐèþÇ…^èþ…yìþ. 

 

Q12) Write the structure and functions of an ecosystem. 

 BÐèþÆæÿ×ý ÐèþÅÐèþçÜ¦ Äñý$$MæüP Ñ«§æþ$Ë$ Ðèþ$ÇÄæý$$ °Æ>Ã×ýÐèþ$$¯èþ$ Væü*Ça {ÐéÄæý$…yìþ. 

 

Q13) What are the various characteristics of population? Explain. 

 f¯é¿ê Äñý$$MæüP Ë„æü×ýÐèþ$$Ë$ HÑ$? ÑÐèþÇ…^èþ…yìþ. 



   

  

   

 

Q14) Explain the following: 

 {Mìü…¨ Ðésìý° ÑÐèþÇ… è̂þ…yìþ: 

a) Acid rains. 

BÐèþ$Ï ÐèþÆ>ÛË$. 

b) Ozonelayer depletion. 

KgZ¯Œþ ´÷Ææÿ MöÆæÿ™èþ. 

c) Disaster management. 
Ñç³™èþPÆæÿ ç³ÇíÜ¦™èþ$Ë °ÆæÿÓçßý×ý. 
 

d) Indoor pollution. 
Væü–çßý M>Ë$çÙÅ…. 
 

 

��� 
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B.Sc. DEGREE EXAMINATION, MAY – 2017 

SECOND YEAR 

MATHEMATICS – II 

Solid Geometry & Real Analysis 

Time : 3 Hours   Maximum Marks: 70        

SECTION - A 

        Answer all questions  

Each question carries 3 mark.   (8×3=24) 

 

Q1)  Find the equation of the plane through the intersection of the planes � − � +
3� + 5 = 0, 2� + � − 2� + 6 = 0 and passing through the point (3,1,1).  

  � − � + 3� + 5 = 0, 2� + � − 2� + 6 = 0 ™èþËÐ@þ¬Ë bóþ§æþ¯@þÐ@þ¬ §éÓÆ> ´ù™èþ* 

(3,1,1) A ó̄þ ¼…§æþ$Ð@þ#¯@þ$ MæüÍYÄ¶ý¬…yæþ$ ™èþËÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬.   

   

Q2) Find the angles between the lines � − 2� + � = 0, � + � − � = 0 and � + 2� +
� = 5, 8� + 12� + 5� = 0. 

  � − 2� + � = 0, � + � − � = 0  Ð@þ$ÇÄ¶ý¬ � + 2� + � = 5, 8� + 12� + 5� = 0 

ÆóÿQË Ð@þ$«§æþÅ Mø×ýÐ@þ¬Ë$ Mæü¯@þ$Vö ¯@þ$Ð@þ¬. 

 

Q3) Find the equation of the sphere through the circle	�� + �� + �� = 1, 2� + 4� +
5� = 6 and touching the plane z = 0. 

 	�� + �� + �� = 1, 2� + 4� + 5� = 6 Ð@þ–™èþ¢… Væü$…yé ´ù™èþ* Ð@þ$ÇÄ¶ý¬ z = 0 ™èþÌê°² 

çÜµ –Õ… ó̂þ Vøâ¶ý… çÜÒ$MæüÆæÿ×êË @̄þ$ Mæü¯@þ$MøP…yìþ.   

 

 



   

  

   

      

Q4) Find the reciprocal cone to the given cone 	3�� + 4��+ 5�� + 2�� + 4�� +
6�� = 0. 

 	3�� + 4�� + 5�� + 2�� + 4�� + 6�� = 0 Ô¶ý…Mæü$Ð@þ#Mæü$ Ð@þ#Å{™èþPÐ@þ$ Ô¶ý…Mæü$Ð@þ# 

Mæü¯@þ$Vö¯@þ$Ð@þ¬.   

 

Q5) Show that lim����
� = 1.   

 lim����
� = 1	A° ^èþ*ç³…yìþ. 

 

Q6) Test for convergence ( )33

1

1
n

n n
∞

=

+ −∑ .    

 ( )33

1

1
n

n n
∞

=

+ −∑  Äñý¬MæüP AÀçÜÆæÿ×ê°² ç³ÇÖÍ…^èþ…yìþ. 

 

Q7) Show that f(x) = x2 cos(1/x); x≠0; f(x)=0, x=0 is derivable every where but the 

derivative is not continuous at ‘0’.   

 f(x)=x
2cos(1/x); x≠0; f(x)=0, x=0 {ç³Ðóþ$Ä¶ý$… {ç³† ÐéçÜ¢Ð@þ çÜ…QÅ Ð@þ§æþª AÐ@þMæüË±Ä¶ý$… 

AÐ@þ#™èþ$…§æþ° Ð@þ$ÇÄ¶ý¬ §é° Ð@þ#Å™èþµ̄ @þ… ‘0’ Ð@ §æþª AÑ_ā @þ²… M>§æþ° è̂þ*ç³…yìþ. 



   

  

   

Q8) Prove that if Sn is a Cauchy sequence then {Sn} is convergent.   

 {Sn} MøíÙ A @̄þ$“MæüÐ@þ$… AÆÿ¬™óþ {Sn} AÀçÜÇ… ó̂þ A¯@þ$“MæüÐ@þ$… °Ææÿ*í³…^èþ$Ð@þ¬. 

SECTION – B 

Answer all questions 

                                       Each questions carries 11½ marks. (4×11½=46) 

Q9) a) i) A variable plane makes intercepts on the axes, the sum of whose square 

is k2. Show that the locus of the foot of the perpendicular from origin to 

the plane is ���� + ��� + ����		��� + �� + ���� = ��
.   

  JMæü ^èþË ™èþËÐ@þ¬ A„æüÐ@þ¬ËOò³ ^óþÄ¶ý¬ A…™èþÆæÿ Q…yæþÐ@þ¬Ë Ð@þÆ>YË Ððþ¬™èþ¢Ð@þ¬ k2 

AÆÿ¬™óþ Ð@þÊË¼…§æþ$Ð@þ# ¯@þ$…yìþ D ™èþÌê°Mìü X_ @̄þ Ë…º´ë§æþÐ@þ¬ ¼…§æþ$ç³«§æþÐ@þ¬ 

���� + ��� + ����		��� + �� + ���� = ��
 A° ^èþ*ç³#Ð@þ¬. 

 

  ii) Find the S.D. and equations of S.D. between the lines 
���
� = ���

�� =  ��
� ,

���
�� = ��!

� =  �"
# .   

  
���
� = ���

�� =  ��
� , ���

�� = ��!
� =  �"

#  ÆóÿQË Ð@þ$«§æþÅ Mæü°çÙt §æþ*ÆæÿÐ@þ¬ (S.D.) 

Ð@þ$ÇÄ¶ý¬ §é° çÜÒ$MæüÆæÿ×êË$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

OR 

      



   

  

   

 b) i) Find the equation of the sphere which touches the plane 3� + 2� − � +
2 = 0 at �1, −2,1� and cuts orthogonally the sphere �� + �� + �� −
4� + 6� + 4 = 0.   

  �1, −2,1� Ð@þ§æþª 3� + 2� − � + 2 = 0 ™èþËÐ@þ¬¯@þ$ çÜµ –ÕçÜ*¢ �� + �� + �� −
4� + 6� + 4 = 0 Vøâ¶ýÐ@þ¬Ë¯@þ$ Ë…º…V> Q…yìþ…^èþ$ Vøâ¶ýÐ@þ¬ çÜÒ$MæüÆæÿ×ýÐ@þ¬¯@þ$ 

Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  ii) Show that the spheres �� + �� + �� − 64 = 0, �� + �� + �� − 12� +
4� − 6� + 48 = 0 touch internally and find the point of contact.   

  �� + �� + �� − 64 = 0, �� + �� + �� − 12� + 4� − 6� + 48 = 0 A¯óþ 

VøâêË$ A…™èþÆæÿ…V> çÜµ –ÕÝë¢Ä¶ý$° ^èþ*í³, çÜµÆæÿØ¼…§æþ$Ð@þ# Mæü¯@þ$MøP…yìþ. 

 

Q10) a) i) Show that the equation 2�� + 2�� + 2�� − 10�� − 10�� + 2� + 2� +
26� − 17 = 0 represent a cone and find its vertex.   

  2�� + 2�� + 2�� − 10�� − 10�� + 2� + 2� + 26� − 17 = 0 

çÜÒ$MæüÆæÿ×ýÐ@þ¬ JMæü Ô¶ý…Mæü$Ð@þ#¯@þ$ çÜ*_…^èþ$¯@þ° ^èþ*í³, §é° A“VæüÐ@þ¬ 

Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  ii) Find the equation to the cone which passes through the three coordinate 

axes as well as the three lines 
�
� = �

� =  
�� , �

� = �
� =  

%  and 
�
� = �

��� =  
%.   

  Ð@þÊyæþ$ °Ææÿ*ç³Mæü A„æüÐ@þ¬Ë §éÓÆ> Ð@þ$ÇÄ¶ý¬  �� = �
� =  

�� , �
� = �

� =  
%,	 

  		�� =
�

��� =
 
%  ÆóÿQË §éÓÆ> ´ùÐ@þ# Vøâ¶ýÐ@þ¬ çÜÒ$MæüÆæÿ×ýÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬.  

 

  OR 

       



   

  

   

 b) i) Find the equation of the enveloping cylinder of the sphere �� + �� +
��− 2� + 4� − 1 = 0 having its generators parallel to the line x=y=z.   

  f¯@þMæü ÆóÿQË$ x=y=z  A¯@þ$ ÆóÿQMæü$ çÜÐ@þ*…™èþÆæÿ…V> E…r*, �� + ��+ �� −

2� + 4� − 1 = 0	 A @̄þ$ Vøâ¶ýÐ@þ¬¯@þMæü$ çÜµÆæÿØ çÜ*¢ç³Mæü çÜÒ$MæüÆæÿ×ýÐ@þ¬ Mæü¯@þ$MøP…yìþ. 

  ii) Find the equation of the right circular cylinder whose guiding curve is 

the circle through the point (1,0,0), (0,1,0), (0,0,1).   

  (1,0,0), (0,1,0), (0,0,1) ¼…§æþ$Ð@þ#Ë Væü$…yé´ùÄôý$ Ð@þ–™é¢°² ¿¶ý*Ð@þ“MæüÐ@þ¬V> 

VæüÍW¯@þ Ë…ºÐ@þ–¡¢Ä¶ý$ ççÜ*¦ç³Ð@þ¬ Äñý¬MæüP çÜÒ$MæüÆæÿ×ê°² Mæü¯@þ$MøP…yìþ. 

 

Q11) a) i) If S� = 1 + �
�+ �

�' +⋯+ �
�),	prove that {Sn} converges.   

  S� = 1 + �
�+ �

�' +⋯+ �
�) AÆÿ¬™óþ, {Sn} A¯@þ$“MæüÐ@þ$… AÀçÜÇçÜ$¢…§æþ° 

°Ææÿ*í³… è̂þ…yìþ. 

  ii) Test for convergence 

2

2

log

n

n

n

∞

=

 
 
 

∑ .    

  

2

2

log

n

n

n

∞

=

 
 
 

∑  “Ôóý×ìý AÀçÜÆæÿ×ý™èþ¯@þ$ ç³ÇÖÍ…^èþ…yìþ. 

OR 

     



   

  

   

b) i) Let f :R→R be such that f(x) =	+,-�.�����+,-�� 	for x<0 f(x)=c for x=0 and 

f(x)= 
/��0�'12/'��2/'

0�4/' 	 for x>0. Determine the values of a,b,c for which 

the function is continuous at x=0.   

  f(x) =	+,-�.�����+,-�� 	 x<0; f(x)=c, x=0 Ð@þ$ÇÄ¶ý¬ f(x)= 
/��0�'12/'��2/'

0�4/'  , x>0  

AÄôý$Årr$t f :R→R A @̄þ$Mø…yìþ. x=0 Ð@þ§æþª {ç³Ðóþ$Ä¶ý$Ð@þ¬ AÑ_ē @þ²… M>Ð@þyé°Mìü 

a,b,c ÑË$Ð@þË¯@þ$ °Ææÿ~Æÿ¬…^èþ…yìþ. 

 

  ii) Prove that tan� > � > sin �	∀	�	<	 =0, >�? .   

  tan� > � > sin �	∀	�	<	 =0, >�?	A° ^èþ*ç³#Ð@þ¬. 

      

Q12) a) i) State and prove Cauchy mean value theorem.   

  MøíÙ Ð@þ$«§æþÅÐ@þ$ Ð@þÊËÅ íÜ§é®…™é°Mìü °ÆæÿÓ_…_ °Ææÿ*í³… è̂þ$Ð@þ¬. 

  ii) Using Lagrange’s Mean value theorem prove that 10.22<√105<10.25 .   

  Ìñý“V>…h íÜ§é®…™é°² Eç³Äñý*W…_ 10.22<√105<10.25  A° ^èþ*ç³…yìþ. 

OR 

  b) i) Show that f(x) =3x+1 is integrable on {1,2} and A �3� + 1�B� = 11/2�
�    



   

  

   

  f(x) =3x+1 {ç³Ðóþ$Ä¶ý$… {1,2} A…™èþÆæÿ… Ò$§æþ çÜÐ@þ*MæüË±Ä¶ý$… A° ^èþ*í³ 

A �3� + 1�B� = 11/2�
�   A° °Ææÿ*í³…^èþ…yìþ. 

 

  ii) State and prove Fundamental theorem of integral calculus.   

  çÜÐ@þ*MæüË¯@þ Ð@þÊËíÜ§é®…™èþÐ@þ¬¯@þ$ °ÆæÿÓ_…_ °Ææÿ*í³…^èþ$Ð@þ¬. 

 

 

 

ζ ζ ζ 
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SECTION - A 

                                             Answer any two of the following            (2 × 10 = 20) 

  

Q1)  Deduce the Maxwell’s law of distribution of molecular speeds. 

 Ðóþ$MŠüÞÐðþÌŒý A×ý$ÐóþV>Ë ÑÐ@þÆæÿ×ý °Ä¶ý$Ð@þ*°² E™éµ̈ …^èþ$Ð@þ¬. 

   

Q2) Describe Carnot’s cycle and derive an equation for its efficiency.    

 M>Æ>²sŒý ^èþ“MîüÄ¶ý$Ð@þ¬¯@þ$ Ð@þÇ~…_ §é° §æþ„æü™èþ¯@þ$ ™ðþË$ç³# çÜÒ$MæüÆæÿ×ê°² Æ>ºr$tÐ@þ¬. 

 

Q3) Explain Joule - Thomson effect. Describe the Porous Plug experiment.   

 goÌŒý & £é…çÜ¯Œþ çœÍ™é°² ÑÐ@þÇ…^èþ$Ð@þ¬. ´ùÆæÿ‹Ü ç³ÏVŠü {ç³Äñý*V>°² Ð@þÇ~…^èþ$Ð@þ¬. 

 

Q4) What is pyrometer. Describe the construction and working of optical pyrometer. 

 Oò³ÆøÒ$rÆŠÿ A¯@þV>¯óþÑ$? §æþ–Ô> Oò³ÆøÒ$rÆŠÿ Äñý¬MæüP °Æ>Ã×ýÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ç³°^óþÄ¶ý¬ 
Ñ«§é¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

SECTION - B 

               Answer any two questions                  (2 × 10 = 20) 

 

Q5) What is spherical aberration. Explain the various methods to minimise it in 
lenses. 

 VøäÄ¶ý$ Ñç³«§æþ¯@þÐ@þ¬ A¯@þV>¯óþÑ$? ÑÑ«§æþ ç³§æþ¦™èþ$ËÌZ §é°¯ðþÌê ™èþWY…^èþÐ@þ^èþ$ā ø ™ðþË$ç³#Ð@þ¬. 

 

Q6) Describe the Newton’s rings experiment to determine the wavelength of a mo-
nochromatic light source.   

 HMæü Ð@þÆæÿ~ M>…† f¯@þMæüÐ@þ¬ Äñý¬MæüP ™èþÆæÿ…VæüO§ðþÆæÿƒÅÐ@þ¬¯@þ$ Mæü¯@þ$Vö @̄þ$rMæü$ ¯@þ*År¯Œþ Ð@þËÄ¶ý*Ë 
{ç³Äñý*V>°² Ð@þÇ~… è̂þ$Ð@þ¬. 



   

  

   

 

Q7) Explain the construction and working of a zone plate. Derive the formula for its 
focal length.   

 Ð@þ$…yæþË çœËMæü… °Æ>Ã×ýÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ç³°^óþÄ¶ý¬ Ñ«§é¯é°² ÑÐ@þÇ…^èþ$Ð@þ¬. §é° 
¯é¿êÅ…™èþÆ>°Mìü çÜÒ$MæüÆæÿ×ê°² Æ>ºr$tÐ@þ¬. 

 
Q8) Describe the construction and working of Laurentz’s half shade polarimeter.    

 ÌêÆðÿ¯Œþ AÆæÿ®̂ éeÄ¶ý$ «§æþ–Ð@þ×ýÐ@þ*ç³MæüÐ@þ¬ Äñý¬MæüP °Æ>Ã×ê°² Ð@þ$ÇÄ¶ý¬ ç³°^óþÄ¶ý¬ Ñ«§é¯@þÐ@þ¬¯@þ$ 
Ð@þÇ~…^èþ$Ð@þ¬. 

 
SECTION - C 

       Answer any three of the following                    (3 × 5 = 15) 
 
Q9) Write a short note entropy.  

 G…{sêí³ Væü*Ça Ëçœ¬ ÐéÅÝë°² {ÐéÄ¶ý¬Ð@þ¬. 

 

Q10) What are transport phenomena in gases?  

 ÐéÄ¶ý¬Ð@þ#ËÌZ AÀVæüÐ@þ$¯@þ §æþ–WÓçÙÄ¶ý*Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 
Q11) What are thermodynamic potentials?   

 EçÙ~Væü†Mæü çÙMæüÃÐ@þ¬Ë¯@þV>¯óþÑ$? 

 

Q12) Distinguish between Joule’s expansion adiabatic expansion and Joule Thom-
son’s  expansion.    

 goÌŒý ÐéÅMø^èþÐ@þ¬, íÜ¦ÆøçÙ~Mæü ÐéÅMø^èþÐ@þ¬ Ð@þ$ÇÄ¶ý¬ goÌŒý&£é…Ð@þ$Þ̄ Œþ ÐéÅMø^èþÐ@þ¬Ë 
Ð@þ$«§æþÅVæüË ¿ôý§æþÐ@þ¬Ë¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 

 
Q13) Define solar constant. Explain how it is determined.  

 ÝûÆæÿ íÜ¦Æ>…MæüÐ@þ¬ A¯@þV>¯óþÑ$? §é° ð̄þÌê Mæü¯@þ$Vö…§æþ$Æø ÑÐ@þÇ… è̂þ$Ð@þ¬. 
   
Q14) Calculate the surface temperature of the sun and  moon given that λs=4753Å and 

λm=14 × 10-6m.   

 C_ā @þ§æþ™é¢…Ô¶ýÐ@þ¬¯@þ$…yìþ çÜ*Ææÿ$Å° Ð@þ$ÇÄ¶ý¬ ^èþ…{§æþ$° Eç³Ç™èþË EÚù~“Væü™èþË¯@þ$ 
ÌñýMìüP…ç³#Ð@þ¬.  λs=4753Å Ð@þ$ÇÄ¶ý¬  λm=14 × 10-6m. 

 



   

  

   

 

SECTION - D 

             Answer any three questions                    (3 × 5 = 15) 

 

Q15) Explain, how the thickness of a thin wire is determined by wedge method.    

 ÐðþyŠþj BM>Ææÿç³# ç³Ë$^èþ° V>Í´÷Ææÿ¯@þ$ HÆæÿµÆæÿ_ JMæü çÜ¯@þ²° ¡Væü Ð@þ$…§æþÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$ 
Ñ«§é¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

Q16) Derive an equation for the resolving power of a grating.  

 “Vóüsìý…VŠü Äñý¬MæüP ç³–£æþMæüPÆæÿ×ý ÝëÐ@þ$Ææÿ®ÅÐ@þ¬¯@þMæü$ çÜÒ$MæüÆæÿ×ê°² Æ>ºr$tÐ@þ¬. 
 

Q17) Write a short note on optical activity.  

 ««§æþ–Ð@þ×ý… {¿¶ýÐ@þ$×ý™èþ Væü*Ça Ëçœ¬ ÐéÅÝë°² {ÐéÄ¶ý¬Ð@þ¬. 

 

Q18) Derive equations for the Einsteins coefficients.  

 I¯ŒþïÜt̄ Œþ Væü$×ýM>Ë @̄þ$ ™ðþË$ç³# çÜÒ$MæüÆæÿ×êË¯@þ$ Æ>ºr$tÐ@þ¬. 
 

Q19) What is the principle of fibre optics. Mention the application of fibre optics. 

 §æþ–Ô>™èþ…™èþ$Ð@þ#Ë Ð@þÊËçÜ*{™èþÐ@þ¬¯@þ$ {ÐéÄ¶ý¬Ð@þ¬ §æþ–Ô>™èþ…™èþ$Ð@þ#Ë A¯@þ$Ð@þÆæÿ¢̄ éË¯@þ$ 
™ðþË$ç³#Ð@þ¬. 

 

Q20) In Newton’s Rings  experiment the diameter of the 10th dark ring is 0.44 cm and 
the radius curvature of the lens is 80 cm. Find the wavelength of the light used.     

 ¯@þ*År¯Œþ Ð@þËÄ¶ý*Ë {ç³Äñý*Væü…ÌZ 10 Ð@þ `MæüsìýÐ@þËÄ¶ý$… Äñý¬MæüP ÐéÅçÜÐ@þ¬ 0.44 cm 
Ð@þ$ÇÄ¶ý¬ MæürMæüÐ@þ¬ Äñý¬MæüP Ð@þ“Mæü™èþËÐ@þ¬ 80 cm AÆÿ¬¯@þ Eç³Äñý*W…_ @̄þ M>…† ™èþÆæÿ…Væü 
O§ðþÆæÿƒÅÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
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B.Sc. DEGREE EXAMINATION, MAY – 2017 

Second Year 

ELECTRONIC PAPER – II : ELECTRONIC DEVICES & CIRCUITS 

Time : 3 Hours   Maximum Marks: 70 

        Answer any Five questions.   

     All questions carry equal Marks.                           (5 × 14 = 70)

                 

 

Q1) a) Explain the solids on the basis of  

i) resistivity and 

ii) band theory of crystals. 

 b) Explain the position of Fermi energy level in intrinsic semiconductor. 

 

Q2) a) Describe the construction and working of Zener diode. Draw its V-I  

  characteristics. 

 b) Explain how a Zener diode can be used as a voltage regulator. 

         

Q3) Draw the circuit diagram of BJT. Draw input and output characteristics of a 

transistor in CE configuration and explain the cut off, active and saturation      

regions. 

 

Q4) Define an Amplifier. Draw the equivalent circuit of RC coupled CE amplifier 

and explain its frequency response. 

 



   

  

   

Q5) Write down the advantages and disadvantages of negative feedback. Explain the 

effect of negative feedback on gain, bandwidth, input impedance, output        

impedance. 

 

Q6) a) What is barkhausen criterion of oscillations. 

 b) Explain the working of bistable multivibrator. 

 

Q7) Explain the working of enhancement MOSFET with its output and transfer  

 characteristics. 

 

Q8) Describe the construction, working and characteristics of UJT.  

 

Q9) Explain the working of Colpitt’s oscillator. 

 

Q10) Explain the construction and working of photo diode and LED. 
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